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QUESTION 1

View the following FortiGate configuration.

config system global
sSet snat-route-change disable

end
config router static
edic 1
set gateway 10.200.1.254
set priority 5
set device "portcl"”
next
edit2
set gateway 10.200.2.254
set priority 10
set device "porcz®
next
encl

All traffic to the Internet currently egresses from portl. The exhibit shows partial session information for Internet traffic
from a user on the internal network.

-e=01 dur: ex re=3179 timeout=3600 flags=00000000
idx=0 us

K: org pr
t dir=org

(before,
=h4:£7:al:e9:91:97
J }:Iolicf-}_il:i=l a‘.lth_ilthf:El -:-hl:_client-_a.nf-:i=l:l
s=ff/ff app lisct=0 app=0 url cat

dd type=0 dd mode=0

npa_acace=DzEDDPUU

npu inf o/ offload=0/0, ips offload=0/0, epid=0/0, ipid=0/0, vlan=0x0000/0x0000
v1ifid=0/0, vtag_in= 000/0x0000 in npu=0/0, out_npu=0/0, fwd en=0/0, gid=0/0

no ofld reason:

If the priority on route ID 1 were changed from 5 to 20, what would happen to traffic matching that user\\'s session?

A. The session would be deleted, so the client would need to start a new session.
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B. The session would remain in the session table, and its traffic would still egress from port1.
C. The session would remain in the session table, and its traffic would start to egress from port2.
D. The session would remain in the session table, but its traffic would now egress from both portl and port2.

Correct Answer: B

QUESTION 2

Which of the following statements about bulk configuration changes using FortiManager CLI scripts are correct?
(Choose two.)

A. When executed on the All FortiGate in ADOM, changes are automatically installed without creating a new revision
history.

B. When executed on the Remote FortiGate directly, administrators do not have the option to review the changes prior
to installation.

C. When executed on the Device Database, you must use the installation wizard to apply the changes to the managed
FortiGate.

D. When executed on the Policy Package, ADOM database, changes are applied directly to the managed FortiGate.

Correct Answer: BC

QUESTION 3

What conditions are required for two FortiGate devices to form an OSPF adjacency? (Choose three.)
A. OSPF IP MTUs match.

B. OSPF costs match.

C. OSPF peer IDs match.

D. IP addresses are in the same subnet.

E. Hello and dead intervals match.

Correct Answer: ADE

QUESTION 4

Which of the following statements are correct regarding application layer test commands? (Choose two.)
A. Some of them display statistics and configuration information about a feature or process.

B. They are used to filter real-time debugs.

C. They display real-time application debugs.

NSE7_EFW-6.0 VCE Dumps | NSE7_EFW-6.0 Practice Test | NSE7_EFW-6.0 Braindumps 3/4


https://www.passapply.com/nse7_efw-6-0.html
https://www.passapply.com/nse7_efw-6-0.html
https://www.passapply.com/nse7_efw-6-0.html

VCE & PDF https://www.passapply.com/nse7_efw-6-0.nhtml
2024 Latest passapply NSE7_EFW-6.0 PDF and VCE dumps Download

PassApply.com

D. Some of them can be used to restart an application.

Correct Answer: AD

QUESTION 5

View these partial outputs from two routing debug commands:

§ get router info kernel
tab=254 vf=0 scope=0 type=1 proto=1l prio=0 0.0.0.0/0.0.0.0/0->0.0.0.0/0 pref=0.0.0.0 gwy=10.200.1.254
dev=2 (portl)
tab=254 vf=0 scope=0 type=1 proto=11 prio=10 0.0.0.0/0.0.0.0/0->0.0.0.0/0 pref=0.0.0.0 gwy=10.200.2.254
dev=3 (port2)
tab=254 vf=0 scope=253 type=l proto=2 prio=0 0.0.0.0/0.0.0.0/0->10.0.1.0/24 pref=10.0.1.254 gwy=0.0.0.0
dev=4 (port3)
# get router info routing-table all
s 0.0.0.0/0 [10/0) via 10.200.1.254, portl
[10/0] via 10.200.2.254, port2, [10/0]
c 10.0.1.0/24 is directly connected, port3
c 10.200.1.0/24 is directly connected, portl
c 10.200.2.0/24 is directly connected, port2

Which outbound interface will FortiGate use to route web traffic from internal users to the Internet?
A. Both portl and port2

B. port3

C. port2

D. portl

Correct Answer: A
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